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STATEMENT AND CONCLUSION
1. 1; The first and the second Premises are Universal

Affirmative (A-type). The third Premise is Particular
Affirmative (I-type). All fruits are lions.
All lions are foxes.

           

Some foxes are elephants.
A  +  A  + 1
 A + I  No Conclusion Consider the first two
Premises: All fruits are lions.
All lions are foxes. We know that, A + A  A-type
Conclusion Thus, our derived Conclusion would be :
"All fruits are foxes." Therefore, Conclusion I follows.

2. 5; Some cars are wheels.

             

All wheels are branches.
We know that, I + A   I-type Conclusion
Thus, our derived Conclusion would be :
"Some cars are branches".
This is the Conclusion I. Conclusion II is the Converse
of the third Premise. Therefore, both the Conclusions
follow.

3. 2; No stick is door

       

All doors are pens.
We know that
E + A     O1- type Conclusion
Thus, our derived Conclusion would be :
"Some pens are not sticks".
All doors are pens

          

Some pens are houses.
We know that,
A  +  I    No Conclusion II is the Converse of the
second Premise.

4. 3; All men are parrots

            

Some parrots are crows
We know that,  A  +  I   No Conclusion
Some parrots are crows

              

All crows are hens.
We know that, I  +  A   I-type Conclusion

Thus our derived Conclusion would be :
"Some parrots are hens". Both the Conclusions form
Complementary Pair. Therefore, either Conclusion I or
Conclusion II follows.

5. 4; Some dogs are windows

              

All windows are trees
We know that,
I + A  I-type Conclusion:
Thus, our derived Conclusion would be :
"Some dogs are trees."

6. 2; Some eyes are pens. (I)

              

All pens are pencils  (A)
I + A = I-type Conclusion
Therefore,
“Some eyes are pencils”.
Conclusion II is converse of this conclusion.

7. 4; No Conclusion follows from Particular Premises.
8. 5; All horses are rivers. (A)

                 

All rivers are jungles. (A)
A + A     A-type Conclusion
Therefore,
“All horses are jungles”.
All rivers are jungles. (A)

             

No jungle is flower.  (E)
A + E      E-type Conclusion
Therefore,
“No rivers is flower”.
All horses are jungles.

            

No jungle is flower.
Therefore, “No horse is flower”.

9. 4; Some tables are ears. (1)

             

All ears are spoons. (A)
I + A = I-type Conclusion
Therefore,
“Some tables are spoons”.

10. 5; All windows are rooms.  (A)

             

All rooms are desks. (A)
A + A    A-type Conclusion
Therefore,
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“All windows are desks”.
Conclusion II is converse of second premise.

11. 1; Some canes are books (I)

                

All books are lanterns. (A)
I + A     I-type  Conclusion
Conclusion: Some canes are lanterns.
Conclusion I is converse of this Conclusion.

12. 4; All the three premises are Universal Affirmative (A-
type).
But no two premises are aligned. If we converse one
Premises, then we will get A + I combination. We know
that no Conclusion follows from A + I combination.

13. 2; Some tents are stones. (I)

             

All stones are walls.  (A)
Conclusion: Some tens are walls.
Conclusion II is Converse of this Conclusion.

14. 3; Conclusion I and II form complementary Pair. Therefore,
either Conclusion I or II follows.

15. 5; All desk are benches. (A)

             

No bench is chair. (I)
A + E       E-type Conclusion
Conclusion: No desk is a chair.
Conclusion II is Converse of this Conclusion.
Conclusion I is converse of the third Premise.

16. 2; Some birds are tigers.  (I)

               

All tigers are schools. (A)
I + A    I-type Conclusion
Conclusion: Some birds are schools.
Conclusion II is Converse of this Conclusion.
Conclusion I is converse of the third Premise.

17. 4; First and third Premises are Particular Affirmative
(I-type).
Second Premise is Particular Negative (O-type).
No Conclusion follows from Particular Premises.

18. 4; All hills are trucks.  (A)

               

Some trucks are houses. (I)
A + I     No Conclusion

19. 4; First Premise is Particular
Affirmative (I-type)
Second Premise is Universal
Affirmative (A-type)
Both the Premises are already aligned.

Some trees are roads.

           

All roads are stones.

We roads are stones.

I + A    I-type conclusion
Thus, our derived conclusion would be:
“Some trees are stones”.
Conclusions II is the conversion of our derived
conclusion.

20. 4; First Premise is Particular
Affirmative (I-type)
Second Premise is Universal
Affirmative (A-type)
Both the Premises are already aligned.
Some pencils are houses.

           

All houses are buses.
We know that,
I + A    I-type conclusion
Thus, our derived conclusion would be:
“Some pencils are buses”.
This is the conclusions I.
Conclusions II is the conversion of our derived
conclusion.
Therefore, only conclusions I and II follow.

21. 1; First Premise is Universal
Negative (E-type)
Second Premise is Particular
Affirmative (I-type)
Both the Premises are already aligned.
Some train is star

           

Some starts are men.
We known that,
E + I    O1 -type conclusion
Thus, our derived conclusion would be:
“Some men are not trains”.
One of the two Premises is Negative, therefore,
Affirmative conclusions are invalid.
One of the Premises is Particular, therefore Universal
conclusions are invalid.

22. 1; Both the  Premise are Universal Affirmative (A-type)
Again, the given Premises are already aligned.
All books are cars.
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All cars are tigers.

We know that,

A + A    A-type conclusion

Thus, our derived conclusion would be:

“Some books are tigers”.

This is the conclusion I.

23. 2; First Premise is Universal

Affirmative (A-type)

Second Premise is Particular

Affirmative (I-type)

Both the Premises are already aligned.

Some books are pins.

           

All pins are desks.

We know that,

A + I    No conclusion

Now look for any conversion and/or implication.

Conclusions I and III form complementary pair.

Therefore, either conclusion I or III follows.

24. 1; All the three Premises are Particular Affirmative (I-
type).
No conclusion follows from the Particular Premises.
But, conclusion II is the converse of the first Premises.
Therefore, only Conclusion II follows.

25. 5; First and third Premises are Universal Affirmative (A-
type)
Second Premises is Universal Negative (E-type).

(A) All myths are fictions

              

  No fiction is novel.
We know that,
A + E    E-type Conclusion
Therefore, out derived Conclusion would be:
“No myth is novel”.
This is the Conclusion I.
(B) No fiction is novel

              

      All novels are stories.
We know that,
E + A    O

1
-type Conclusion

Therefore, our derived Conclusion would be:
“Some stores are not fictions”.

(C) No myth is novel.

            

    All novels are stories.
We know that,
E + A = O

1
-type Conclusion

Therefore, our derived Conclusion would be:
“Some stories are not myths”.
Conclusion III is the converse of the first Premises.
Thus, only Conclusions I and III follow.

26. 2; First Premise is Particular Affirmative (I-type).
Second Premises is Universal Affirmative (A-type).
Third Premises is Particular Negative (O-type)
Some disciples are preachers

               

All preachers are saints.
We know that,
I + A    I-type Conclusion
Therefore, our derived Conclusion would be:
“Some disciples are saints”.
Conclusion I is the Converse of this Conclusion.

27. 1; First and third Premises are Universal Affirmative (A-
type)
Second Premise is Particular Affirmative (I-type).
All wells are springs.

           

Some springs are rivers.
We know that,
A + I     No Conclusion
Conclusion III is the Converse of the first Premise
Conclusions II and IV form complementary pair.
Therefore, either conclusion II or Conclusion IV
follows

28. 4; First and third Premises are Particular Affirmative (I-
type)
Second Premises is Universal Affirmative (A-type)
Some farmers are landloards.

              
All landlords are labours
We know that,
I + A    I-type Conclusion
Therefore, our derived Conclusion would be:
“Some farmers are labours”.
Conclusion I is the Converse of this Conclusion.
Conclusion IV is the Converse of the first Premise.

29. 4; First and third Premises are Universal Affirmative (A-
type). Second Premises is Particular Affirmative (I-
type).
Some roads are dogs.



33

Add. 41-42A, Ashok Park Main, New Rohtak Road, New Delhi-110035
+91-9350679141

            

All dogs are rains.
We know that,
I + A    I-type Conclusion
Thus, our derived Conclusion would be:
“Some roads are rains”.
Conclusion III is Converse of this Conclusion.
Conclusion I is Converse of the third Premise.

30. 1
31. 5; First and Second Premises are Universal Affirmative

(A-type).
Third Premise is Universal Negative (E-type).
(A) All doors are buses.

               

All buses are leaves.
We know that,
A + A    A-type Conclusion
Thus, our derived Conclusion would be;
“All doors are leaves”
Conclusion III is converse of this conclusion.
(B) All buses are leaves.

                 

No leaf is a flower.
Thus, our derived Conclusion would be:

“No door is a flower”.
Conclusion I is Converse of this Conclusion.
Conclusion IV is Converse of second Premise.

32. 2; First Premise is Universal Affirmative (A-type).
Second Premise is Universal Negative (E-type)
Third Premise is Particular Affirmative (I-type).
(A) All tigers are rivers.

              

No river is a forest.
We know that,
A + E    E-type Conclusion
Thus, our derived Conclusion would be:
“No tiger is a forest”.
(B) No river is a forest.

                   

Some forests are goats.
We know that,
E  + I    O

1
-type Conclusion

Thus our derived conclusion would be:
“Some goats are not rivers”.
(C) No tiger is a forest.

              

Some forests are goats.
We know that
E + I = O

1
-type Conclusion

Thus, our derived Conclusion would be:
“Some goats are not tigers”.

33. 3; All the three Premises are Particular Affirmative (I-type)
No Conclusion follows from the Particular Premises.
Now look for any Conversation and/or Implication.
Conclusions I and IV form Complementary Pair.
Therefore, either Conclusion I or IV follows.

34. 5; First Premise is Particular Affirmative (I-type).
Second and third Premises are Universal Affirmative
(A-type).
(i)   Some grains are pulses.

                 

     All pulses are vegetables.
We know that,
I + A  (I-type) Conclusion would be:
Therefore, our derived Conclusion would be:
"Some grains are vegetables".
This is Conclusion I.
(ii) Some grains are vegetables.

                     

      All vegetables are fruits.
Thus, our derived Conclusion  would be:
“Some grains are fruits.

(iii)  All pulses are vegetables.

                   

    All vegetables are fruits.
We know that,
A + A   A-type Conclusion
Thus, our derived Conclusion  would be :
“All pulses are fruits”.
(iv) Some grains are pulses.

                    

   All pulses are fruits.
Thus, our derived Conclusion  would be:
“Some grains are fruits”
Therefore, only Conclusion I follows.

35. 2; First and third Premises are Particular Affirmative (I-
Type).
Second Premise is Universal Affirmative (A-type).
Some ships are boats.
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All boats are submarines.
We know that,
I  +  A     I-type Conclusion
Thus, our derived Conclusion would be:
“Some ships are submarines.”
Conclusion III is the converse of our derived
Conclusion.
Conclusion II is the converse of the second Premise.
Therefore, only Conclusions II and III follow.

36. 4; First and third Premises are Universal Affirmative
(A-type).
Second Premise is Particular Affirmative [I-type).
Some graphs are letters.

                            

All letters are numbers.
We know that,
I + A    I-type Conclusion
Thus, our derived Conclusion would be:
“Some graphs are numbers.”
Conclusion III is the converse of this derived
Conclusion.

37. 3; Second Premise is Universal Negative (E-type)
Third Premise is Universal Affirmative (A-type)
First Premise is Particular Affirmative (I-type)
Most (some) doctors are engineers.
Most (some) doctors are engineers.
(i)  Most (some) doctors are engineers.

                                   

     No engineer is a pilot.
We know that.
I + E   O-type Conclusion
Thus, our derived Conclusion would be:
“Some doctors are not pilots.”
(ii)   No engineer is a pilot.
        All pilots are doctors.
We know that
E + A    O-type Conclusion
Thus, our derived Conclusion would be:
“Some doctors are not engineers.”
Conclusion I is the converse of the first Premise.
Conclusion III is the converse of the second Premise.
Therefore, only Conclusions I and III follow.

38. 2; All the three Premises are Universal Affirmative
(A-type).
(i)  All files are folders.

                                

      All folders are boxes.
We know that,
A + A    A-type Conclusion
Thus, our derived Conclusion would be:

“All files are boxes.”
(ii) All files arc boxes.

                        

       All boxes are drawers.
Thus, our derived Conclusion would be :
“All files are drawers.”
This is the Conclusion III

(iii)  All folders are boxes.

                            

   All boxes are drawers.
Thus, our derived Conclusion would be:
“All folders are drawers.”
This is the Conclusion I.

39. 1; First Premise is Universal Affirmative (A-type).
Second Premise is Particular Affirmative (I-type).
Third Premise is Universal Negative (E-type).
All cups are glasses.

             

Some glasses are bowls.
A + I    No Conclusion.
Some glasses are bowls.

         

No bowl is a plate.
I + E   O-type Conclusion
"Some glasses are not plates."
If one of the Premises is Particular, Universal
Conclusion is invalid.

40. 5; First Premise is Particular Affirmative (I-type).
Second and third Premises are Universal Affirmative
(A-type).
(A) Some bags are purses.

              

All purses are containers.
I + A   I-type Conclusion
"Some bags are containers".
(B) All purses are containers.

              

All containers are suitcases.
A  +  A  A-type Conclusion
"All purses are suitcases". This is the Conclusion III.
(C) Some bags are purses.

               

All purses are suitcases.
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"Some bags are suitcases". This    is    the    converse
of Conclusion I.
(D) Some bags are containers.

                  

All containers are suitcases.
"Some bags are suitcases". Conclusion IV is the
converse of second Premise.

41. 1; First and second Premises are Particular Affirmative (I-
type).
Third Premise is Universal Negative (E-type).
Some stones are diamonds.

                  

No diamond is a gem.
I + E    O-type Conclusion
"Some stones are not gems"
Conclusion I and IV form Complementary Pair.
Therefore, either I or IV follows. Similarly, Conclusions
II and III from Complementary Pair. Therefore, either II
or III follows.

42. 4; All the three Premises are Particular Affirmative (l-type).
No Conclusions follows from Particular Premises.
Conclusions I and IV form Complementary Pair.
Therefore, either I or IV follows.

43. 5; First and second Premises are Particular Affirmative (I-
type).
Third Premise is Universal Affirmative (A-type).
Some ropes are threads.

             

All threads are needles.
I + A     I-type Conclusion
"Some ropes are needles."
This is the converse of the Conclusion I.
Conclusion IV is converse of the third Premise.

44. 1; First and second Premises are Particular Affirmative (I-
type).
Third Premise is Universal Affirmative (A-type).
Some plants are flowers.

              

All flowers are trees.
I + A     I-type Conclusion
“Some plants are trees”.

45. 5; First premise is Particular Affirmative (I-type).
Second and third Premises are Universal Affirmative
(A-type).
(A) Some spoons are bowls.

                 

All knives are forks.

“Some spoons are forks”.
Conclusion IV is the converse of this Conclusion.
(C) All bowls are knives.

                               

All knives are forks.
A + A     A-type Conclusion
“All bows are forks”.
This is Conclusion II.
Conclusion III is converse of second Premise.
Therefore, Conclusions II, III and IV follow.

46. 2 47. 1 48. 3 49. 3 50. 2


	16. STATEMENT AND CONCLUSION
	STATEMENT AND CONCLUSION



